Math 2E Quiz 3 Morning - April 14th

Please put ID on back for redistribution!

Show all of your work, and simplify all your answers. *There is a question on the back side.

1. Set up the integral that would compute [[[ y*dV where E is the solid tetrahedron with vertices
E
at (0,0,0), (3,0,0), (0,3,0), (0,0,3). You do not need to evaluate this integral for full credit.

*Bouus [1pt]* Compute this integral.
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2. Evaluate the following integral by changing to cylindrical coordinates:

It may help. as usual, to draw the 2y domain that is integrated over.
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